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Question 1

Identify and describe the characteristics and challenges of never-married, childless older adults.
Answer: https://biology-forums.com/index.php?topic=790852

Question 2

During a conservation-of-water experiment, 8-year-old Emme can focus on several aspects of the problem and relate them, rather than centering on
just one aspect. Therefore, Emme is capable of

A) seriation

B) class inclusion

C) reversibility

D) decentration

Answer: https://biology-forums.com/index.php?topic=789556

Question 3

Which statement to an adult child is the most likely to promote positive ties?
A) “Drive carefully on the freeway.”

B) “Let us know if we can help.”

C) “Be sure to wear your sweater—it is cold out there.”

D) “Be sure to drink plenty of water.”

Answer: https://biology-forums.com/index.php?topic=790533

Question 4

What is one problem with longitudinal research?

A) It does not permit inferences about cause-and-effect relationships.
B) Participants may move away or drop out of the research.

C) Findings may not generalize to the real world.

D) It does not permit study of individual developmental trends.
Answer: https://biology-forums.com/index.php?topic=788581

Question 5

Margot, 58, and Todd, 62, have decided to use donor ova in combination with in vitro fertilization to help Margot become pregnant. Which statement is
true?

A) Most children conceived through in vitro fertilization are less well-adjusted than naturally conceived children.

B) Among in vitro babies, the rate of low birth weight is nearly five times lower than in the general population.

C) Due to the biological effects of in vitro techniques and their older age, Margot and Todd have a lower risk of miscarriage.

D) Based on life expectancy data, there is a moderate chance that Margot or Todd will die before their child enters college.

Answer: https://biology-forums.com/index.php?topic=788656

Question 6

Dr. Redmund characterizes his view of development as a bioecological model. His perspective is aligned with that of which theorist?
A) Jean Piaget

B) Urie Bronfenbrenner

C) Lev Vygotsky

D) Niko Tinbergen

Answer: https://biology-forums.com/index.php?topic=788535

Question 7

The United States is more than most Western European countries, which place greater weight on
A) collectivistic; individualism

B) individualistic; independence

C) collectivistic; interdependence

D) individualistic; collectivism

Answer: https://biology-forums.com/index.php?topic=788687

Question 8

A group of 2-year-olds watches through a window while a live adult hides an object in an adjoining room. Another group watches the same event on a
video screen. Which of the following is likely to occur?
A) Children in the direct viewing condition will retrieve the toy easily, while those in the video condition will have difficulty.
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B) Children in the video condition will retrieve the toy easily, while those in the direct viewing condition will have difficulty.
C) Both groups of children will have difficulty retrieving the toy.

D) Children in both groups will be able to retrieve the toy easily.

Answer: https://biology-forums.com/index.php?topic=789033

Question 9

The most obvious change as children move from the sensorimotor to the preoperational stage is an increase in
A) symbolic activity

B) private speech

C) motor activity

D) abstract thought

Answer: https://biology-forums.com/index.php?topic=789316

Question 10

Tanner’s parents are withdrawn. They make no demands of Tanner and are indifferent to his point of view. Tanner’s parents have a(n)
style of child rearing.

A) authoritative

B) authoritarian

C) permissive

D) uninvolved

Answer: https://biology-forums.com/index.php?topic=789502

Question 11

Which scientist is most likely at the height of expertise?

A) Dr. Dellinger, age 25

B) Dr. Bland, age 37

C) Dr. Lucerno, age 49

D) Dr. Petiss, age 76

Answer: https://biology-forums.com/index.php?topic=790426

Question 12

sustains the benefits of growing up in an economically advantaged family and can reduce the negative impact of a stressed,
poverty-stricken home life.
A) Good child care
B) Even low-quality child care
C) Authoritarian parenting
D) Permissive parenting
Answer: https://biology-forums.com/index.php?topic=789084

Question 13

By the twelfth week of pregnancy, .

A) the sex of the fetus can be detected with ultrasound

B) the mother can feel the movements of the fetus

C) the fetus is viable and can survive if born early

D) synchrony between fetal heart rate and motor activity peaks
Answer: https://biology-forums.com/index.php?topic=788751

Question 14

According to Erikson, the danger in middle childhood is , reflected in the pessimism of children who lack confidence in their ability to do
things well.

A) shame

B) mistrust

C) inferiority

D) despair

Answer: https://biology-forums.com/index.php?topic=789658

Question 15

Freud believed that moral development is largely complete by years of age.
A)lto?2
B)3to4

Page 2 of 3




Development Through the Lifespan - 2448 Total Questions - Biology-Forums.com

C)5t06
D) 8 to 10
Answer: https://biology-forums.com/index.php?topic=789440

Question 16

Ten-month-old Hannah is shown a stuffed sheep, and then it is hidden under a blanket. Which statement is true?

A) Hannah can find the sheep by coordinating two schemes—*pushing” aside the blanket and “grasping” the toy.

B) Deliberately retrieving the stuffed toy is an example of a secondary circular reaction.

C) Deliberately retrieving the stuffed toy is an example of a primary circular reaction.

D) Hannah will not be able to retrieve the stuffed toy sheep until she is in Substage 5 of Piaget's sensorimotor period.
Answer: https://biology-forums.com/index.php?topic=789017

Question 17

Taking tests and answering questionnaires are examples of
A) research designs

B) theories

C) hypotheses

D) research methods

Answer: https://biology-forums.com/index.php?topic=788544

Question 18

Swaddling newborns

A) increases crying

B) hinders early motor development

C) promotes an insecure attachment relationship

D) restricts movement and increases warmth

Answer: https://biology-forums.com/index.php?topic=788844

Question 19

Discipline that relies too heavily on makes children so anxious and frightened that they cannot think clearly enough to figure out what they
should do.

A) induction

B) rewards

C) withdrawal of love

D) time out

Answer: https://biology-forums.com/index.php?topic=789444

Question 20

Which statement about the sex lives of American adults is true?

A) More men than women report persistent sexual problems.

B) Single people have more sex than people who are married or cohabiting.
C) Most married adults say they are only somewhat happy with their sex lives.
D) As number of sex partners increases, sexual satisfaction declines sharply.
Answer: https://biology-forums.com/index.php?topic=790127
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